Partdrawing for AN943K - Constructie tacker

2005/12
AN943




Partdrawing for AN943K - Constructie tacker

Nr.
001
002
003
004
005
009
010
011
012
014
016
018
019
020
021
023
023C10
023C20
023C30
023C40
025
027
028
029
030
031
033
034
036
037
039
040
042
043
044
046
047
048
049
050
051
052
053
054
055
056

Part nr.

419115-6
213809-3
213668-5
331700-4
213667-7
213504-5
213669-3
419114-8
421925-9
421924-1
154652-0
345618-3
922342-1
317950-5
162238-6
154820-5
421921-7
421922-5
421923-3
817592-0
951075-1
233368-1
216008-6
162239-4
419356-4
318005-9
922252-2
213176-6
213262-3
213039-6
317959-7
213122-9
324591-0
213044-3
318010-6
258004-8
419418-8
951075-1
310165-3
951075-1
310166-1
951054-9
310163-7
231978-8
267300-3
266369-4

Name

Cilinderplaat AN943
0O-Ring 87 HM01317C
O-Ring 60

Cilinder AN943

O-Ring 60

O-Ring 40 HM13/14/1500
O-Ring 56 *

Hoofdklep AN943
Klepzadel AN943
Stootplaat AN943
Geleider AN943
Uitlaatkap #

Inbusbout M6X25 P
Afdekkap AN943 #
Afdekkappakking AN943
Huis cpl AN943
Handgreep AN943 P
Motorhuisbuffer R AN943 P
Motorhuisbuffer L AN943 P
Label veiligheid AN943
Borgpen 3-28 Ar410Hr
Drukveer 3 AN943

Stalen Kogel 4 A
Inlaatpakking AN943
Inlaatfilter AN943
Inlaatkap AN943
Inbusbout M5X30

O-Ring 14 Hm1214C
O-Ring 18

O-Ring 6 Uc30/35/4020A A
Klep AN943

O-Ring 14 2414B P

Klep AN943

O-Ring 3P

Klephuis AN943

Spanstift 2,5-16
Schakelknop AN943
Borgpen 3-28 Ar410Hr
Schakelknophouder AN943
Borgpen 3-28 Ar410Hr
Aanslag AN943

Spanstift 3-10

Stelknop AN943

Drukveer con 9-16 AN943
Sluitring 5 AN943
Inbusbout M5X20

'H!!l,;!!!‘fl




Partdrawing for AN943K - Constructie tacker

Nr.
057
058
059
059C10
059C11
060
061
062
063
064
065
066
067
068
069
070
071
072
073
074
075
078
079
081
082
083
084
085
086
087
088
089
091
093
094
095

Part nr.

345626-4
419117-2
154823-9
810022-0
816R52-7
266370-9
345619-1
922217-4
345620-6
344765-7
266370-9
213654-6
310164-5
266368-6
233463-7
345622-2
421418-6
931302-2
265498-0
267314-2
419118-0
163456-9
419112-2
262054-7
256770-1
419116-4
262054-7
345673-5
231309-1
345621-4
233038-2
256490-7
951054-9
810097-9
819181-7
266370-9

Name

Verbindingsplaat AN943
Afdekkap AN943

Magazijn cpl AN943
Waarschuwingslabel A AN943
Waarschuwingslabel B AN943 P
Inbusschroef M6x12mm AN943
Nagelaanslag AN943

Bout M5X14Mm Bhx2501 A
Magazijnrail AN943

Houder AN943

Inbusschroef M6x12mm AN943
O-Ring 60

Slagpengeleider AN943
Inbusschroef M8x25mm AN943
Drukveer 10 An943 *
Verbindingsplaat AN943
Rubber Pen 9,5

Zeskantmoer M6

Inbusschroef M6x20mm AN943
Sluitring 7 AN943

Afdekkap AN943

Veer cpl AN943 #

Veergeleider AN943

Urethane Ring 3 6837

Pin 4 AN943

Drukgeleider AN943

Urethane Ring 3 6837
Borgplaat AN943

Drukveer 5 Jr3020

Drukpen AN943

Drukveer 5 Jr3060T

Pin 4 AN943

Spanstift 3-10

Label AN943

Label AN943

Inbusschroef M6x12mm AN943

'H!{l,;!!!‘fl




